Bihar Mathematical Society
TSTM (Olympiad) 2021 (Class-10)
Full Marks:- 100 Time: 2% Hours
Answer all questions. All questions carry equal marks.
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Solve the inequality
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Solve the equation for any non-negative value of x
Vi+Vx+1-Vx+2=0
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If P = 22, and Q = 2%2% 4 223 + ...+ 20 then establish the relation between P and Q.
gfe P =225, qen Q = 2%* +223 4+ .4+ 20, @1 P qon Q & < w9y ura ay |

Find a triangle whose integer sides are in A.P with a common difference of 2 and which has an area of 336.
T 3RS @7 gaT oY, et qoiie Yeig 2 & | SR & e AP € i T &awd 336 2
If x is a three-digit number and y is a number obtained by permuting the digit of x in any manner, then prove
that (x — ) is always divisible by a number, and find the number.
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Let x and y be positive real numbers and D an angle such that 8 # g for any integer n. Suppose - =
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In a frequency distribution, the numbers 1, 2, 3, 4, 5, 6, 7, 8, 9, 10 have frequencies 1, 2, 3,4, 5,6, 7, 8,9, 10
respectively. Find the mean of the distribution.
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There are 10 coins each blank on one side and numbered on the other side with numbers 1 through all the
coins are tossed and the sum of numbers lauding face up is calculated. What the probability that this sum is at
least 45.

TH WG 10 R85 el € &R @8 @ dR 1 & w1 It Ryl 31 SoTer Smar 8 oiR 91 o aTell dwsit & AR &)
VAT B A B | R ARG & 5 a8 AT B | B 45 B

In how many different ways faces of three cubes can be coloured in 18 different colours?
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Prove that if 10 points are taken inside an equilateral triangle of side 3 cm., then at least two of them must be
at a distance less than 1 cm.
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